



$$21.4 \div 0 - 6 - 2 \equiv 40 = 49.5 = \frac{51}{7} = 0 \frac{2}{=} = 3 = 2742 = 43$$

$$\begin{array}{r} 14.43 \\ \times 9.01 \\ \hline \end{array}$$

$$\begin{array}{r} 518 \\ \times 7 \\ \hline \end{array}$$

$$\begin{array}{r} 5.24.5 \\ 4.4.5 \\ \times 2.2.2 \\ \hline \end{array} = 60$$

$$48 = \frac{2 \times 4}{9 \times 5} = \frac{8}{45} = \frac{8}{90} = \frac{4}{45}$$

$$\begin{array}{r} 2.9.3 \\ \times 8 \\ \hline \end{array}$$

$$31.6$$

$$00 \equiv \frac{15 \times 12}{13} = 45.4$$

$$40 \frac{6.5.3}{20} 3 = \frac{4.4.4}{95 \ 65}$$